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����� ������ f (�x) : Er �→ R �� �� ���������  ���!��"� I =
�r

k=1(αk, βk) ����"�# $�! ��� � %���� &!� ��'$�

$�� &���( )��"��� *�$+ �a,�b ∈ I �, -��.� r *�$/ �ξ1, �ξ2, . . . , �ξr ∈ I ���0 '� &"��#

f (�a) − f (�b) =
r∑

i=1

∂ f
∂xi

(�ξi) (ai − bi).
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• $/��) *�$��� $����-�!���� 1*�) 2.�+ �� �*����-� 3 �� &�#&�$� r = 2, �$+ I = (α1, β1) × (α2, β2)

• ����� �a = (a1, a2) � �b = (b1, b2)

• )��"� *�) .��4����" � &���+*��-�# &"��# ��!��"�# !����-�

f (�a) − f (�b) = f (a1, a2) − f (b1, a2) + f (b1, a2) − f (b1, b2)

• $�5��.�� &!� t ∈ 〈a1, b1〉 ����� ψ1(t) = f (t, a2) � &!� t ∈ 〈a2, b2〉 ����� ψ2(t) = f (b1, t)

• &�� ψ1(t), ψ2(t) .-�� �� -�4�� $�5� 6�#�� �*�!��� -&�. �� 1� ) �(�� ��7�83 � ��.# ��� $�! ����
∂ f
∂x1

(t, a2)0

!�-&�
∂ f
∂x2

(b1, t),

• &�$"� ��9!��9���+ �(�+ � &�#!/-��� 1�&" ������ �$$("��( �� ������ ψ1(t) � ψ2(t)3 ��$+ �, -��.# 6#-"�
η1 ∈ (a1, b1) � η2 ∈ (a2, b2) ������0 '�

ψ1(a1) − ψ1(b1) = ψ′1(η1) (a1 − b1), ψ2(a2) − ψ2(b2) = ψ′2(η2) (a2 − b2)

• $�-������ &!���

f (�a) − f (�b) = ψ1(a1) − ψ1(b1) + ψ2(a2) − ψ2(b2) = ψ′1(η1) (a1 − b1) + ψ′2(η2) (a2 − b2) =

=
∂ f
∂x1

(η1, a2) (a1 − b1) +
∂ f
∂a2

(b1, η2) (a2 − b2),

�.� )� *�$+ �ξ1, �ξ2 ) ��!)��# �(�+ -��6# ��" � *�$+ �ξ1 = (η1, a2) � �ξ2 = (b1, η2), ���!� )��.�( &���# $� I
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����� .� &!� ����� f (�x) : Er �→ R -&"�(� �"�-&�: .�$�� ) &��$&��"�$/; 73 f (�x) �� �� . -��� ���"# U(�a) *�$� �a
����"�# $�! ��� 0 ���!� .� �� U(�a) ���)���< �3 f (�x) �� �� . -��� ���"# U(�a) -&�. ��� ����"�# $�! ��� � %�� f (�x)
.� � *�$( �a -&�. ���

������

• ��.&!�� &!���'��� &!��# ) �*�� ��!)��#

• ������ f (�x) : Er �→ R �� &�$"� &��$&��"�$/ �� ���"# U(�a) *�$� �a �"�-��# &�!� �"�# $�! ���� &!��#�� ��$�
&�$"� �=��� &!��(��4��

• � ���"# U(�a) . -�( "�'# �(.��4 �������4  ���!��" ���!� I =
�r

k=1(αk, βk), � ")� ��$#' �'#� �(�+ � &�#!/-���
����7

• &!� �x ∈ U(�a) ��$+ �, -��.# �ξi ∈ I (i ∈ r̂) ���0 '�

f (�x) − f (�a) =
r∑

i=1

∂ f
∂xi

(�ξi) (xi − ai)
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